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subroutine hstdef



call hlimap (100000, ’SAMPLE’)
c*x**x* user should modify following lines
ck¥xx*x Define Histgram
call hbook1(9,’Event Length’ ,10,0., 10.,0.)
call hbook1(1,’Left’,512,0.,512.,0.)
call hbook1(2,’Right’,512,0.,512.,0.)
call hbook1(3, ’product’,512,0.,256.,0.)
call hbook1(4,’position’,512,0.,5.,0.)
call hbook2(5,’2-dimensional’,64,0.,512.,64,0.,512.,5000.)
return

end

subroutine eventl(data)

integer*2 data(0:%)

real buff, posl,posr,pos,product
cxx*xx user should modify following lines
c data(0) = event-length in byte

call hfill(9,float(data(0)),0.,1.)

call hfill(1,float(data(1)),0.,1.)

call hfill(2,float(data(2)),0.,1.)

if (float(data(1)) * float(data(2)).ne.0.) then
product = sqrt( float(data(l)) * float(data(2)) )
call hfill(3,product,0.,1.)

posl = float(data(l)) / product

call hfill(4,posl,0.,1.)

endif

call hfill(5,float(data(1)),float(data(2)),1.)
return

end

subroutine hstend
call hfreem(0)
stop

end
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Ecounter test using 90Sr beta source
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Ecounter test using 90Sr beta source
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Ecounter test using 90Sr beta source
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